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No part of the candidate evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.













EXEMPLAR Score 14 

Question 1 – M5 

Q 1(a)(i) – X placed inside of frontier – correct  

Q 1(a)(ii) – arrow towards frontier – correct 

Explanation – no mention of increase in output or reasons for increase in economic growth. 

Q1(b) – graph shift correctly 

Explanation – candidate mentions “increases to either natural, capital or human resources”, 
specifically links to model (PFF to PFF1). (M5) 

 

Question 2 – E7 

Q 2(a) – curve shifted correctly and labelled correctly 

Explanation – candidate mentions increase in C, I and G will lead to increase in economic 
growth – AND link to model (Y-Y1). (M6 evidence – 3 components) 

Q 2(b) – curve shifted correctly 

Explanation – candidate mentions less profitable, Y-Y1 and negative impacts on economic 
growth (M5 evidence) 

As candidate focused on increased costs of production having a greater impact, rather than 
increased spending as the impact over the next 50 years of increasing cost of production 
due to resource scarcity will continue to remain high. Also discussed how increased 
spending will only be short-lived. E7 (misses E8 as insufficient links to model in this part of 
the question). 

 

Question 3 – N2 

Business positive – not accepting energy companies 

Business negative – bottle water companies not accepted as no “less access to water”.  

Household positive – cheaper power not accepted BUT able to access power (supply focus) 
is accepted for A 

Household negative – decreases health and well-being due to pollution accepted for A 
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EXEMPLAR Score 17 

Question 1 – A4 

Q 1(a)(i) – X placed inside of frontier – correct 

Q 1(a)(ii) – arrow towards frontier – correct 

Explanation – mentions increase of economic growth and increase in production but no 
reasons for this increase in economic growth. (A evidence) 

Q1(b) – graph shift correctly 

Explanation – mentions economic growth but no reasons why, no link to the model or 
specific impact on the future 

Question 2 – M6 

Q 2(a) – curve shifted correctly and labelled correctly 

Explanation – candidate mentions increase in C, I and G will lead to increase in economic 
growth – AND link to model (Y-Y1). (M6 evidence – 3 components) 

Q 2(b) – curve shifted correctly 

Explanation – candidate mentions increased cost of production will lead to lower profit 
margins, Y-Y1 BUT no impact on economic growth. 

As candidate focused on increased spending having a greater impact, rather than increased 
costs of production due to increased scarcity of resources. This is acceptable only if the 
increased spending early on provided technology or production methods that are reducing 
need for scarce resources. 

Question 3 – E7 

Business positive – Farmers can take advantage due to improved irrigation of land 
previously too dry … increase production (who and why) … increase revenue (implication) – 
M evidence 

Business negative – power companies not accepted. 

Household positive – employment in construction businesses. Higher incomes (who and 
why) … able to afford more goods and services (implication) – M evidence 

Household negative – increased pollution may lead to worse health (who and why) … have 
to go to the hospital more often causing them to have less discretionary income (implication) 
– M evidence

As candidate has households positive AND negative = E7 


